
EE 201 —  HW 2-21    Name__________________________________________

Use the method of superposition to find  
the value of IS that makes the voltage 
across R3 equal to zero.  (Same as the 
current through R3 being zero.)
 

   
 
 
 IS = _________________________   
  

Suggestion: Find the contributions of VS1 and VS2 to vR3.  Then find an expression for the contribution of 
IS to vR3.  Use that to calculate the value of IS that will offset the effects of VS1 and VS2. 
 
 
 

Write your answers — and whatever work will fit — on this sheet.  Staple any sheets with additional work behind.
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